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ad

> 0

202 Oddl 1,000 1,000 0

500
500

o

= 0

01 WY 1,000 1,000 0

200,000& 5 1,000
= 500
Al 500

0

206 M= dl 6,400 3,000 3,400

3,200
3,200

o

= 0

01 M=H| 6,400 3,000 3,400
O=&ABL0I2RL WETY

16,0003 40 53] 20t = 6,400
3,200
3,200

o

= 0

301 Let2a= 8,600 4,000 4,600

4,300
4,300

Pall ()]




M s€lis4dH

BE: =E2XC
Sl MEIHHRY (el &2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 glggi; bRz
10 BAAHIRAS 5,600 2,000 3,600
OSZALZ20SSL D FI124
7,002 %402 * 103 +20t 2 5,600
z 2,800
Al 2,800
12 JER A3 3,000 2,000 1,000
OSZALZ20SSE DS TALY
150,0002 1081 %20} 2 3,000
z 1,500
Al 1,500
402 DIZHXHR O 80,000 50,000 30,000
2 40,000
Al 40,000
01 QIARZEE 80,000 50,000 30,000
OSEALILUSTE 40,000,000 202 80,000
z 40,000
Al 40,000
AEHS A (N YOI YAY) 275,000 189,300 85,700
= 136,000
Al 139,000
201 L2y 5,000 4,800 200
= 1,000
Al 4,000
2 222 5,000 3,400 1,600
ORSABTA IENE SNLS 5,000
= 1,000
Al 4,000
402 DIZHRHROIH 270,000 165,600 104,400
= 135,000
Al 135,000
NIESEEES 270,000 165,600 104,400
OASASFA SXKE 10,000,000 %277 2 270,000
= 135,000
Al 135,000
SEXCIIBTATE(KLOISAY) 49,000 0 49,000
= 27,000
Al 22,000
101 @121t 1,500 0 1,500
= 1,500
04 JIAHZRRESS 1,500 0 1,500
OsUIHLSADSXH JI2HH oI2y] 1,500
= 1,500
201 Lpr2 | 1,550 0 1,550
= 1,550
01 AR eIt 550 0 550




SN

X ZH
(=]

ok

sZJl=4H

P sENE

MENL2SE

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
Osgoldgstns g8 & 89 550
= 550
02 =294l 1,000 1,000
O=sdoldEstus E3=2HA 1,000
= 1,000
301 LetE A= 1,950 1,950
= 1,950
10 AR HIEAZ 750 750
Osgoldgstns EIIE4 750
= 750
12 JIEtE A2 1,200 1,200
Osgold8stuns dAY 1,200
= 1,200
402 QI2tXE01 A 40,000 40,000
= 20,000
Al 20,000
01 QIZtX}= 40,000 40,000
O=sd 4 XH&F 1 el KT &
10,000, 000& *2H A~ 20,000
= 10,000
Al 10,000
OCIH Al ABAE X
10,000,000 2 &~ 20,000
= 10,000
Al 10,000
405 KH&HH 4,000 4,000
= 2,000
Al 2,000
01 K&ty 4,000 4,000
OF:=)::! 4,000,000&*1& 4,000
= 2,000
Al 2,000
A2Hegdy 2,035,726 1,745,400
= 600,000
== 24,000
Al 1,411,726
P | = 16,417 0
101 Q124 4| 3,817 0
04 D2t 3,817 0
Ot Pals]
38, 170& * 15 %100 3,817
206 i ZH 6,600 0
01 M=zl 6,600 0
OXt& e s s Mz=2¢
300,000& =103/ 3,000
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SN

I‘I iH:

Y=}

DIE=
IIC

: X}"UHC"—E

—‘?—}\_I . ngﬂ o C|'O|(2|j:”) °

NEAME - Bd=

[
2

20
B
2

OBENY YEsNS ALHRS5E H2 7Y
1800002 *203] 3,600
207 1Ry 6,000 6,000 0
03 Al& o7l 6,000 6,000 0
OSAMNLAE 2DIIS505 W22
250,000 *243] 6,000
SAIRA 8,909 8,909 0
101 QIAH| 1,909 1,909 0
04 JIAM2EXS B2 1,909 1,909 0
OSAIZA2Y JI2tH Q1A
38, 17021+ 15 %50 1,909
207 o1 Rop | 7,000 7,000 0
03 Al& o7l 7,000 7,000 0
OSAIZA DI, S A7
350,000 *203] 7,000
=LY 346,400 45,000 301,400
206 T2 H| 5,000 0 5,000
01 MZH 5,000 0 5,000
OQFEU | MA U AHIDE HESHERPL
500,000 103 5,000
301 YstEAZ 6,800 0 6,800
10 8 AbAIH| 2 At 2,800 0 2,800
OQtFOI2| M4 L AHIDS &I
7,0002 *2031*2004 2,800
12 JEEAaa 4,000 0 4,000
O FS R MA U AHI DS AL Asg
400,00021 %103 4,000
307 9I2t0|& 110,000 0 110,000
02 BIZHPARE 80,000 0 80,000
OBESA YEAYS X
80,000, 000! * 14! 80,000
05 BI2teIEta 30,000 0 30,000
OBESA F2I} AHNT 2Y 30,000
400 QI2tXH201H 132,000 45,000 87,000
01 QIIRH=E X 132,000 45,000 87,000
Os42It2 4E3 X
100,000, 000! *27H A *60% 120,000
OsAlBA ZS88 X L BN
20,000, 000! * 141 x60% 12,000
405 RtobF S| 92,600 0 92,600
01 AU SEFHSH| 92,600 0 92,600
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By sEXC

el A=

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
Ozt NBNe=E)|
13,200,000 *2CH 26,400
OFtsadzz22 60,000,000 +1CH 60,000
OsetEs4a AYZ R 6,200,000 = 1CH 6,200
SEASESIAY 64,000 20,000 44,000
= 24,000
Al 40,000
402 212t X=01H 64,000 20,000 44,000
= 24,000
Al 40,000
01 a2t 28x 64,000 20,000 44,000
OAL7E JISEAXNA 50,000,000 » 14! x80% 40,000
& 15,000
Al 25,000
ONESAE ME22Z 30,000,000 » 14! x80% 24,000
& 9,000
Al 15,000
NEE) =22 100,000 200,000 A 100,000
& 50,000
Al 50,000
101 14| 9,000 0 9,000
= 4,500
Al 4,500
04 JIZtMZ22RSE+ 9,000 0 9,000
SENE NSUEKAI2Z JIZ2tM 1Al
9,000,000 =1 9,000
& 4,500
Al 4,500
201 LBt 2,000 2,000 0
= 1,000
Al 1,000
01 AtS2t2ldl 2,000 2,000 0
O=sZME XNYUE/T 28 &€ 88
200,000 108 2,000
2 1,000
Al 1,000
202 O4H| 1,400 1,000 400
= 700
Al 700
01 =LHAbI 1,400 1,000 400
O=sZHE NIBUERT Rz AL Y #X 0t
200,000& 7% 1,400
= 700
Al 700
301 LEEAZ 9,600 7,000 2,600
& 4,800




M s€lis4dH

H: SEXC
el RETed (el &2
_ _ _ N E
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl aton HRs2
Al 4,800
10 ALAHIE &= 9,600 2,000 7,600
OsZMg NAUEAD D] HILH
30,0002 *402 x83l 9,600
z 4,800
Al 4,800
307 212t01& 78,000 0 78,000
= 39,000
Al 39,000
02 2ItAASE X 38,000 0 38,000
OSZEME XAUEAT HHH A 20,000
& 10,000
Al 10,000
OSZEHE NAUENT ATH A 10,000
& 5,000
Al 5,000
O=ZHE NAUEAT et &N 8,000
= 4,000
Al 4,000
05 CIZtRAEZ 40,000 0 40,000
OSZME NAUESAT HSLHLDS 40,000
z 20,000
Al 20,000
DAsSHsgEsA 100,000 0 100,000
= 50,000
Al 50,000
201 LBt 3| 1,200 0 1,200
& 600
Al 600
01 AtE22/Hl 1,200 0 1,200
OD4AS NASH HHSARY 22 L 29
200,000& 65 1,200
= 600
Al 600
301 YptEaazg 3,800 0 3,800
= 1,900
Al 1,900
10 EALAHIEA S 1,400 0 1,400
ODAS NASH HHSARY D] HILHN
7,000& *200H 1,400
& 700
Al 700
12 JIEt2 4= 2,400 0 2,400
ODAS NASHM HMHSARY D] DALY
300,000 82| 2,400
& 1,200
Al 1,200




M s€lis4dH

Ha: sEXE
Sl MRS (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
402 Q12X 0IF 95,000 95,000
=l 47,500
Al 47,500
01 UARELE 95,000 95,000
ODAS NASM WHSASLOISLHBYE
Al 95,000, 00021 *1H 2 95,000
=l 47,500
Al 47,500
FARF(ANZBSHZIHR) 1,400,000 1,400,000
=l 500,000
Al 900,000
101 Q1244 2,000 2,000
=l 1,000
Al 1,000
04 JARZRIIS LS 2,000 2,000
ORYUBK JI2HH Y] 2,000,000% 12 2,000
=l 1,000
Al 1,000
202 01t 3,000 3,000
=l 1,500
Al 1,500
01 =LH0iHl 3,000 3,000
OJIZ =l J2&S ol 3,000
3 1,500
Al 1,500
401 AEHIL S0 840,000 840,000
=l 220,000
Al 620,000
01 Al&H| 820,109 820,109
OBYBSHE L DEINE
826,056, 00021 ¥99.28% 820,109
3 220,000
Al 600,109
02 22yl 13,944 13,944
OBYBFMHE L DSF AS
840,000,0002! *1.66% 13,944
03 Al 2 0HY| 5,947 5,947
ORYRBSUAN L DSF AS 5,047
405 X+arE S| 555,000 555,000
3 277,500
Al 277,500
01 Kt SEFH S| 555,000 555,000
OBABSHE FHl7 555,000
=l 277,500
Al 277,500
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By sEXC

¢l sIIHed (eel: &
= % o (5 = Iz S =
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
soey 1,540,996 227,493 1,313,503
2 505,650
Al 1,035,346
SIIH LA 1,501,798 86,295 1,415,503
2 500,000
Al 1,001,798
101 ©12AH| 32,695 21,795 10,900
= 10,900
Al 21,795
04 JIZH2ZRSES 32,695 21,795 10,900
OSIIHUUAIZ S JI2HRI 212181 (60,5402,
o) 32,695
2 10,900
Al 21,795
201 Lere gl 31,700 0 31,700
=2 15,850
Al 15,850
01 AL/t 13,100 0 13,100
OSIIHLUAIY B I3 J=
1,500% 2,000 3,000
= 1,500
Al 1,500
OSIIJ LHAYA 29 T2
300,000 * 10t 3,000
=2 1,500
Al 1,500
OLHE =II 22l 2He MR
5,000 400CH 2,000
2 1,000
Al 1,000
OYUAYL 2 200,0002 105 2,000
2 1,000
Al 1,000
OLUAMY 2 S2X A
7,0002! ¥304! 102 2,100
2 1,050
Al 1,050
OSII LAY Aol9ie Jasg
0,0008 *10% *23| 1,000
=2 500
Al 500
02 ZZ2H| 18,600 0 18,600
Os2g =1 282 300, 0002 *30LH 9,000
2 4,500
Al 4,500
OSJIH 2£Xg B2 1,200,0008 +30H 3,600
2 1,800
Al 1,800
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By sEXC

EEERSTb Y- CEERE
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES 0f Ao Sl e HRE2
O 2ax8 R572
1,50021*4,0002] Ef 6,000
= 3,000
Al 3,000
206 M=l 30,000 25,000 5,000
= 5,000
Al 25,000
01 M=zl 30,000 25,000 5,000
OUUAIYE sIIH2 2ERY 27,000
= 5,000
Al 22,000
OSIIALUANRA2Y x| gl
1,500& *2,0002| & 3,000
207 AN 14,000 0 14,000
= 7,000
Al 7,000
02 & AH ] 14,000 0 14,000
O=JIHeN 2ED B2l ATE0 72
=Pyl 14,000
= 7,000
Al 7,000
401 A EHIL 204 832,903 0 832,903
= 183,500
A 649,403
01 Al&Y] 815,903 0 815,903
OSIIHYUMAIRE A SHTHE P8t EXI0HL
30,250& 2,972m’ 89,903
OsJIHSHAIE & F04 350,000
= 175,000
Al 175,000
OSIIHAUAIZ A JIBAIL B A 376,000
02 Zeltl 17,000 0 17,000
OSIIH AL BDAE 22y 17,000
= 8,500
A 8,500
405 Xhe+s St 560,500 39,500 521,000
= 277,750
Al 282,750
01 T =S H SHI 560,500 39,500 521,000
OsJIHYUAE A2 E2inY
50,000,000& *2CH 100,000
OSIIHYUAR A2 ARA &I
500, 0002 * 105 5,000
O2UAMEE XAHX 2 45,000,000 = 1CH 45,000
= 22,500
Al 22,500
OYUAMYE SIIH 7Y 410,500
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By sEXC

el sJH=2g (ctel: &
_ _ _ N E
SN CR(EH) - NRAY - BES 01l &k o o HRE2
= 255,250
Al 155,250
sIIAHAMHIAZ S 27,898 81,898 254,000
101 el H] 10,898 10,898 0
04 JI2tHIZ2E2NHEE S 10,898 10,898 0
OsJlAEs =2l JI2tH el2h|
60,540 x1H +180 10,898
206 M=l 17,000 16,000 1,000
01 M=zl 17,000 16,000 1,000
OsJlAz=sl=2lE 0IYIEMES 57
20,0003 =800& 16,000
OsJlH=slrel8 283158 =27
5,000& *200& 1,000
S HEZE ALY 11,300 59,300 248,000
= 5,650
Al 5,650
201 LetHH| 1,650 1,210 440
= 825
Al 825
01 AtR22/Hl 1,650 1,210 440
OsJIHEENE)I=uwsE 8 ¥ 2¢
150,000 *11& 1,650
= 825
Al 825
206 M=l 550 660 A 110
= 275
Al 275
01 M=H| 550 660 A 110
OsJIHEHEI) &sUSE As5HETFLS
5,000& 11004 550
= 275
Al 275
301 Ypt8asg 1,100 1,430 A 330
= 550
Al 550
10 dALAHIE &= 1,100 1,430 A 330
OsJHEEZI=Ls B4
10,000& =110 1,100
= 550
Al 550
405 KH&HFSHI 8,000 56,000 A48,000
= 4,000
Al 4,000
01 ML ESHSHI 8,000 56,000 248,000
OXNIEFFAINE =227 Y
,000,000& +1CH 8,000
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By sEXC

¢el soHed

_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
= 4,000
Al 4,000
R 3,270,566 7,937,068 14,666,502
= 645,238
3 500,000
= 208,900
Al 1,916,428
RS 115,402 122,332 6,930
DEIMMM 94,530 48,600 45,930
402 BIAR20IH 94,530 48,600 45,930
01 PIIX=EE 94,530 48,600 45,930
ORYIISE SA0IML RS
66,000, 00024 *17H 2 *60% 39,600
ONEIY MMIIEEY RSAYSXEL
74,250,002 *17H 2 *60% 44,550
Ouxz SRS JISABAY
17,300, 00021 *17H A +60% 10,380
nER-E=PIEN 20,872 28,372 A7,500
101 Q124 6,872 6,872 0
04 JARZRIS S 6,872 6,872 0
ZSAZA ANSHE JI2H A2
38, 17091 %12 %1502 5,726
OYHSUET AXL22l IR Q12|
38, 17021 %1% %302 1,146
207 SRl 14,000 13,000 1,000
03 AlE Q| 14,000 13,000 1,000
SHAZASY AHATHSPY
600,002 %105 6,000
OYHBSZTASY HRTY 100,002 +105 1,000
OYHSHUET2Y MR 7Y 100,002 %105 1,000
ORERRIA AAUH22Y
300,002 205 6,000
LASHERY 856,070 1,143,298 ~287,228
= 273,918
= 37,800
Al 544,352
Al =2 S ALY 547,836 621,898 AT4,062
= 273,918
Al 273,918
201 Yereg| 12,000 17,800 A5,800
= 6,000
Al 6,000
01 AtR2elt] 12,000 17,800 5,800
OS=7HNASEIIs ASsAY 82 2 2
% 200, 00024 *55 1,000




M s€lis4dH
M JlsdAHR

o9l ASHERY (e @
_ _ _ N E
SNBSS - HRAY - BHES 0 & o4 o HIRZE2
= 500
Al 500
OHIZRZ MATHl JIeAE 22 Y 22
300, 00021 205 6,000
= 3,000
Al 3,000
OZASAY B8 L 2% 500,002 105 5,000
= 2,500
Al 2,500
202 04t 4,000 3,000 1,000
= 2,000
Al 2,000
01 2Uioibl 4,000 3,000 1,000
OHIZRZ MATH IS A TH2EA
200,0008! *53] 1,000
= 500
Al 500
OTAlS AL AFISZ HIXI0H
300,0002 *103] 3,000
= 1,500
Al 1,500
206 M2l 27,000 20,000 7,000
=2 13,500
Al 13,500
01 HEHl 27,000 20,000 7,000
OZASHAIY ASTHRRY
300,0002! * 105 +95| 27,000
= 13,500
Al 13,500
301 YBrEAZ 32,000 19,600 12,400
= 16,000
Al 16,000
10 BAAHIEA2 26,700 16,200 10,500
OSZ=THNALEIIE LSS 1S &}
24 7,00021+100% 700
=2 350
Al 350
OHIZRZ MATH JIE A BItsl ¥ DS
=BII=PY 20,0002 * 1002 *33] 6,000
= 3,000
Al 3,000
OBOSEMAII SNBSS 1S HIIS
7,00021 %100 * 103 7,000
= 3,500
Al 3,500
OZAsHAIY SN &I2Y
1,300,000 *103] 13,000
=2 6,500
Al 6,500
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FA sgllsdH
M JzHR
=

29 ASREES (S &)
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- e ° T EEREES = 04”:"% ree
12 JIEIE2 &3 5,300 3,400 1,900
EZEPMINIAE =) | = ASSIAIYH s 2A
—’r‘—‘é’F 300,000& *113] 3,300
= 1,650
Al 1,650
OEANsZAY AdEs5ns DAY
400,000 x53| 2,000
= 1,000
Al 1,000
402 BIZEXFE0| M 472,836 561,498 /\ 88,662
= 236,418
Al 236,418
01 It X228 X 472,836 561,498 A\ 88,662
OsE3d N E) = ASTAY
25,000,000 « 101 A 25,000
= 12,500
Al 12,500

OHIEE22 HETHH JI=Al™

87,000,000 174 2= 87,000
= 43,500
Al 43,500
Oot0IHIE0lS SIIMBHAIE
40,000,000 *1JH £ 40,000
= 20,000
Al 20,000
OAZ30 =ZIMLAIE  30,000,000& 1K 30,000
= 15,000
Al 15,000
O==Z0&E ==t 2c =AY
100,000,000 *1&HX] 100,000
= 50,000
Al 50,000

80,836,000%*1BII 80,836
= 40,418
Al 40,418
Ost2HMel=3e 0laJI=E=AY
50,000,000& *1JH A& 50,000
= 25,000
Al 25,000
OFAM SdHe & HUXE2ZAE
60,000, 000& 17 2~ 60,000
= 30,000
Al 30,000
e AR 175,434 137,400 38,034
402 22t =01 175,434 137,400 38,034
01 2IEXEE X 175,434 137,400 38,034
OANEZI D& HRAEZLAIEY
50,000,000 *19H 2= *60% 30,000
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d: Jlsd

o9l ASKESRY (S &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
ONEZ SBZIIQ MAIIBTEAY
15,000, 0002 *27H A +60% 18,000
OZE ZIIXH AL
45,350, 0002 * 12+ X| +60% 27,210
O==0 +80HE AlY
40,000, 00024 * 1E+ X| +60% 24,000
OREY DMLY
21,290, 00024 * 1EH X/ +60% 12,774
Ol AASHES A
62,750, 00024 % 1EHX| +60% 37,650
OEIHA ASMA BANLAH
9,000,0002 * 1 £+ K| ¥60% 5,400
ODHX LT THHEK EHAIY
34,000,002 * 1 £ K| +60% 20,400
ASHSAWAYS 22,000 2,000 20,000
207 A PIHLHI 22,000 2,000 20,000
03 A& e 7| 22,000 2,000 20,000
OZJtzes#iey WETY 200,008 105 2,000
OBFTE APNYSE WETY
1,000, 0002 %205 20,000
XIS 5HAI ALY 110,800 102,000 8,800
= 37,800
Al 73,000
301 LBBAI 3,000 0 3,000
= 1,124
Al 1,876
10 BAAHIRAS 3,000 0 3,000
OXADERWY SeBIISAY DS &
IR 600,0002 *53| 3,000
= 1,124
Al 1,876
402 DIZHXIZ O 107,800 102,000 5,800
= 36,676
Al 71,124
01 BIZTEEE 107,800 102,000 5,800
OXNEBHDA Zerp2dle Y
60,000, 0002 * 14 K| +75% 45,000
= 16,876
Al 28, 124
OB HHE RUATAAAB RS
6,000,000 * 1 £+ X| +80% 4,800
= 1,800
Al 3,000
OASAUMEM SSLHIISAIY
10,000, 0002 *1 £+ X +80% 8,000
= 3,000
Al 5,000

_28_
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d: Jlsd

o9l ASHERY (e @
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

S EEEFEREFEENETE
50,000,000 * 1€+ X 50,000
= 15,000
Al 35,000
SESIERE 1,709,176 1,854,048 A 144,872
= 371,320
3 500,000
= 71,100
Al 766,756
BRI 98,892 114,928 £16,036
101 Q1248 28,972 28,972 0
04 JIAH2EZHES4 28,972 28,972 0
O0I2l IBLE ZDMA 2K Q12|
38, 1702 x2532 x3% 28,972
206 T2 19,400 19,400 0
01 WEHl 19,400 19,400 0
O0IR2 AZRs EQMM ARS REEH
SR e 1,5002*1,0002] €4+ 122 18,000
0Dl IBRE MM HPS 2Y W2
¢ 100,0002! 14 1,400
207 HPIHLHI 30,720 50,596 £19,876
03 Algel | 30,720 50,596 £19,876
00l ABRs S2MA X0i7Y
20,0002 *360KG 7,200
002l UIBRE UM SE22Ht7Y
56,0002 108} A 122 6,720
O0I2l QI8R5 DM X012101 LEIDIOf
29 700,0008 %22 A #122 16,800
307 2120/ H 2,400 960 1,440
05 QI2t9IErz 2,400 960 1,440
O0IR2l UBEE SDUAN HRS LAY
HlA 2 200,0002 *122 2,400
405 THAHE SHI 17,400 15,000 2,400
01 RMUSEHSH| 17,400 15,000 2,400
OTE #XUSCTRHE S22 FUYP
g 5,000, 0002 *2CH 10,000
020224847 3,700, 00021 +2CH 7,400
SEMASH(LAFHYEUESY) 836,000 800,600 35,400
3 500,000
Al 336,000
201 LByl 34,000 0 34,000
=l 17,000
Al 17,000
01 AtR2elt| 4,000 0 4,000
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SN SYIIEHE
o J|zoln
ool gEjEey (et & 2

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

O
0o
i
>

[o5]
=

0x

28 € 2 200,000&+205 4,000
= 2,000
Al 2,000

30,000 0 30,000

=
=

02

0
H0
02
=

o
oo
H
>
e
10
0x
0H
00

LS LHA

2,500,000& 123 30,000
15,000
15,000

-~

= 0

202 O 5,000 4,000 1,000

2,500
2,500

o

= 0

01

,_
-
2
=5

o W
!
Hm
>
e
0
0x

5,000 4,000 1,000
& s HXory

200,000 x5H «53] 5,000
2,500
2,500

i

o

= 0

206 M= dl 70,000 34,000 36,000

35,000
35,000

Pall ()]

01 THEH 70,000 34,000 36,000
SR

ol
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